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594 |+ K& [RIEEH ZiE15 Buds | S 44 RC 5 1,172 A *
595 | RE [RIEEH =516 it [ S 44 RC 5 1,235] A *
596 |+ AE |[RIEEHE =i Bl [ H 27 RC 41,582 Tt E *
597 |£AKRE [LiEH#h Z1E18 AL H 27 RC 4 2,752 A E *
598 [ ARER |fB4 tHHh By i U S 53 RC 3 1,611 A *
599 [ RER |4 tH#h 842 L S 53 RC 3 1,611 A *
600 |+ RER [f24 kb f24rith10 BBl [ S 54 RC 3 1,209] A *
601 |ERER [f24 kb B Bt [ S 54 RC 3] 1,209] A x
602 |+ KRER [f24 kb B th12 EBlds | S 56 RC 3| 1,208] A *
603 | KRER [f24 kb 8413 Bt | S 54 RC [ 1,209] A *
604 | RER (884 it Hh fE4ithi14 Bl | S 54 RC [ 1,209] A *
605 | ARER (884 i Hh $E/rith19 Eud | S 56 RC 3| 1,323 FHHE *
606 | KE [SEHH =224 Eutn [ H 10 RC 3] 1,080] #FrE *
607 | K& [EEHH =85 Eouds [ H 15 RC Al 1,422] EE *
608 | KRER [FEEH El Eiud [ S 58 RC 3] 1,323 gAmE *
609 |EARHR [k 5 12 BBl | S 58 RC 3[ 1,323 #mt= *
610 [+ K& [FwEH E M3 Eluth [ S 58 RC 3| 1,323 FHHE *
611 [XKRE [F#EH E#b Bt [ S 59 RC 3| 1,323 FHIfHE *
612 |+ K& [E#EH E 6 B [ S 59 RC 3| 1,323 R *
613 | KRE [E#EH Ea i [ S 60 RC 3| 1,206] R *
614 |+ KRE [E#EH E#10 i | S 61 RC 3| 1,206] FHfE *
615 | KRE |[E#EH Eapl i | S 61 RC 3| 1,296| #FfitE *
616 |EARHE |#FK~ K o Bl A H 10 RC 3 1, 556| A= *
617 |EKRER [#&~ E b ko &8 it [ H 10 RC 3] 1,556] FHTHE *
618 | KRER [HeEHh P19 Ag)Ih| S 58 RC 4l 1,323 EE x
619 | KRE [k F4FE20 A&)IH]| S 59 RC 4l 1,323 AE x
620 |EKRER [HEEh FRE 1 AE)H|H 5 RC 4] 2.102] g E *
621 |EARER | Bk b F% [if] 2 AENIHm|H 6 RC 4 2,096 FiftE *
622 |EAE |HEE #2E3 BENH|H 6 RC 4 1, 783 i *
623 | AKRE |EHIZFEMHA# EHiZE4 AT S 49 RC 5| 1,713] A *
624 |£ARE |EHIZFEMHA# EHix5 AE)MH]| S 50 RC 3 1,498] A *
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631 [T AZ [JULEMEH JULE? Bt | H 27 RC 5 3 35| T e ¥
632 [T AZ [/ULEMM INTEE BT | H 2] RC 5 3 350] Bt ¥
633 [T AZ |[REEM® =& ELth | H_ 26 RC 5 4 353| BT ¥
634 [T AZ |[REEM HE2 BT | H 2] RC 5 1 698| Fif = *
635 [T AZS [EEMH =E3 BT | H 2] RC 3 1 18| Bl *
636 [T AZS [EEE M gE H ] B | H 2] S 6| 2 735 S *
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639 [HEF |BLBEADE AEE T S 1 53] A |H0OKIE b I
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642 [EEAm A nEES ke aA BT | S 55 RC A 1,49 A *
643 [EEAE [ FRIGRES AT BT S 56 RC A 1078 A ¥
644 |[EEA | KRB SIEES  |RHTA Blh | H 3 RC 4| 1.106| Bt E ¥
645 [ZE=AI | AXHATFHES RHRHETB Zlth | H 6 RC 4l 1,177 $7mtE *
646 [EEAE | LEREEEES | LEFRHA L [ H 11 RC 3 1 537 B *
641 [EEAm | LERESaES | LR B [ H 1 RC 3 1. 034 HlE *
648 [EEAN | L HESNES | FEFEC Bt | H 12 RC 3 1025 HfE *
640 [EEAN | L REARES | FEHED Bt | H 12 RC 3 1537 i *
650 [ZENAN|EALGHES EALWL i | H 25 RC 4 1,379 #rimt = *
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